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STAT 212 Business Statistics II – Term 131

KING FAHD UNIVERSITY OF PETROLEUM & MINERALS 

DEPARTMENT OF MATHEMATICS & STATISTICS 

DHAHRAN, SAUDI ARABIA 

STAT 212: BUSINESS STATISTICS II
Semester 131
Major Exam Two
Wednesday, November 06, 2013 
Allowed time 90 minutes  

Please circle your instructor’s name and section number: 

	 Instructor 
	  section number

	
	

	Musawar A. Malik
	Sec 2: (08:00 –08:50)         Sec 5: (11:00 – 11:50)


Raid Anabosi                          Sec 4: (09:00- 09:50)
Name: 



   
          Student ID#:     
       


Serial #: 

Directions: 

1) You must show all your work to obtain full credit. 

2) Round your answers to at least 4 decimal places.
3) You are allowed to use electronic calculators and other reasonable writing accessories that help write the exam. 
4) Do not keep your mobile with you during the exam, turn off your mobile and leave it aside

	Question No
	Full Marks 
	Marks Obtained 

	Q1

	10

	

	Q2
	13

	

	Q3
	5
	

	Q4
	27
	

	Total
	55
	


Q1. (5+5). Is there a difference in the variation of the yield of different types of investments between banks? The following data represent the nationwide highest yield for money market accounts and five-year CDs as of March 2007:

	Money market accounts (%)
	Five-year CD (%)

	4.92
	5.31
	5.3
	5.3
	5.25
	5.95
	5.89
	5.83
	5.83
	5.79


a. At the 10% level of significance, is there evidence that the variance in the money market accounts is 0.03%. Explain in detail.

b. At the 10% level of significance, is there evidence of a difference in the variation of the yield between money market accounts and five-year CDs. Explain in detail.

Q2. (2+1+4+6). In a study about the relationship between the age group of shoppers and the day of shopping, 200 shoppers of each age group were randomly selected and the results are given in the following Minitab printout:

Expected counts are printed below observed counts

Chi-Square contributions are printed below expected counts

                  Age groups

Day Preference                                                    < 35             35-54              > 54

Saturday                                                                 48                56                    24

Expected                                                                 42.67            42.67              42.67

Chi-square                                                                                   4.164               8.168

Other days                                                             152               144                  176

Expected                                                                 157.33          157.33            157.33

Chi-square                                                              0.181                                    2.215

From the above Minitab printout, answer the following:

a. Fill in the missing values of Chi-square.
b. Write the null and alternative hypotheses of your test.
c. Perform the test, IN DETAIL, and write your decision. Use 5% level of significance.
d. If needed use Marascuilo procedure to test that which age groups have different opinion for shopping day? Use 5% level of significance.

Q3. (5). The CEO of a health care facility would like to assess the effects of a recent implementation of Six Sigma management on customer satisfaction. A random sample of 290 patients is selected from a list of patients who were at the facility the past week and also a year ago:

	Satisfied last year
	Satisfied now

	
	Yes
	Yes
	Total

	Yes
	63
	79
	142

	No
	60
	88
	148

	Total
	123
	167
	290


At 0.05 level of significance, is there evidence that satisfaction was lower last year, prior to introduction of Six Sigma management?
Q4. (4+2+5+2+1+5+4+4). In a study about the relation between restaurant Rating (X out of 100) set by some foundation and the price per person (Y in $) in the US, a sample of 100 restaurants was randomly selected and gave the following results:
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a. Compute the correlation coefficient and interpret its value.
b. Compute the coefficient of determination and interpret its value.
c. Estimate the best-fit equation to predict the price per person given the restaurant rating. Show your calculations in detail.
d. Interpret the slope of the best-fit equation.
e. Predict the price per person in a restaurant with rating of 60.

f. Test the hypothesis that the price per person and the restaurant rating are not linearly related at the 2% level of significance.
g. Estimate the average price per person in a restaurant with rating of 60 using 98% confidence interval.
h. What assumptions you have made.
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